X (X’ y)

(Pearson) : (X, Y)

(Spearman )

(X5 Y1) s (X35 Y5) 5 -0 (%05 i)




) 2
r
( X)( y)
ZXV B : (1)
\/(Zx Zy2_<2ny> )
(r)
(-)
()
X 13 9 19 15 11 8 16 11
y 15 7 17 15 10 9 14 10
y X =
X y -10x=x | -10y=y y X X’ y’
13 15 3 5 15 9 25
9 7 -1 -3 3 1 9
19 17 9 7 63 81 49
15 15 5 5 25 25 25
11 10 1 0 0 1 0
8 9 -2 -1 2 4 1
16 14 6 4 24 36 16
11 10 1 0 0 1 0
22 17 132 158 125
X
ny_(z )(ZY)

r =

\/(Z (Z))(z (Zy)

132 -

r =

(22 x 17)

(22 o (7)
\/(158 ;. azs 5 )

r=0.93




(X,Y) (X, y)
6y d’
o1 029 @)
n(n--1)
d (xy) n "
(X, Y)
()
X C C B D
y D C A E
N y 2= x b=y d=a-b d?
A B 6 4.5 1.5 2.25
C B 3 4.5 -1.5 2.25
C D 3 2 1 1
C C 3 3 0 0
B A 5 6 -1 1
D E 1 1 0 0
6.5




6y d’
n(n®—1)
_ 6%x6.5
* T 6(36-1)
r,=1-0.186
r,.=0.814

r.=1-

_ AD-BC
AD+BC’

3)

C.C




()

C.C= AD-BC
AD+BC
C= (5x4)—(3x%x5)
(5x4)+(3x5)
C.C=0.14
X
Y
Y, Y, Y,
X
X, fi) f, f f,
X, f fy f, f,
Xr f“ fr2 frs fr.
f, f fq f




B
B-1
C: e 0 4
- @)
oo ()7, (F)° (1)
fif £ fof
()
X
6 4 10
7 2 9
6 5 11
19 11 30
C
B
2 2 2 2
S AU U . S +
19x10 19x9 19x11 11x10 11x9 11x11
B=1.05
C
c= |B=1
B
_ [ros=1
1.05

C=0.22




(X, Y)

( - )
X y
X y y
y =a+bx, ®))]
: (y ) a
a= y_bia (6)
: X y b
5 ORI ONY
b= n : (7)
5 SOR%
n
() X y ()
X y Xy X’ y’
15 13 195 225 169
7 9 63 49 81
17 19 323 289 361
15 15 225 225 225
10 11 110 100 121
9 8 72 81 64
14 16 224 196 256
10 11 110 100 121
97 102 1322 1265 1398
X
ny_@ S Y)
b= n

0
Y-




132y 97%102

b= 8§ =096

2
1265 - ©7)

a=y-bx
a=12_0967)
8 8

a=1.11

y =1.11+0.96x




3 2 1 1 5 6 1 4

31 44 60 70 18 17 71 29
)

56 66 42 44 38 27 39 40

31 38 27 22 19 25 20 28

A B D E C D E B

A C E D C D E B






